=X

2
(=

}

HIZMIXIXH 20 E)

1. Al Ate| lErg 2

of | o Ltsatolc]of (5 _ B3 | g9l 7|Et ERotE BIEH Z X XY
(EZAlE2) T = = =}
Afei=zr [(54001)
ZMA (Mapes ZAA RFRRA1Z 97 (QAIEE) LiEato|C]of (F)
CH E X 253 o4 2hx 063-441-5146
2. &M & EE v & &
b = 2F(kg/A)
M5 | EAE a8y ch 7| _
S| EQF A
e | 41
2018 NN-CIoig 2 Eotal = 918.2| 6,123.5 0.0 0.0 7,041.7
3. 8% X2 Yol
CH At =2 N,N-CIHE ZZoto|= i & & Ol &, 28 2l H ZHA|A
=Mz [EtS7(ol )25 =2 = M3 Hol o|27(| 71X w2t @ E ZHX|E M X|5}
b =& 2 7= o H| M2 | A3tet F135| HI7|HAS MAlstD /U=
3._4%' |;|H7'<7(-|7I-EI:
HMH & (% 85.0 =" e 2.0
%) (kg/$)
HiEXMZ [FAEE S Soll |l EXME = ststn Abzbof| wh2) s 2 WE | EMX|E
7l&s FIF AR H
HExZ [ =olulg 1.0
SE | (st '
SEHEY
M & (% 90.0 B < 1.6
%) (kg/$)
CH A =2 N,N-CIHE ZZoto| = i & & =234
Hi =Mz (2 AH|o TEE MX[5H0] | M2 F 2356t J2n] F135 HI7|HAS AA
Hl & X Z+ 7= et
2 TESSPI:
®H S (% 85.0 i 0.9
2(%) (ka/21)
EMZ [TAEAS Sof Aule 2X 8 #4851, $E 2 HES 27|okch T 3
7= o | M2 |23t o M
i Exz| solu|g 1
=E | (#ola) °
SEHEY
H 8 (%) 90.0 - = 0.7
° (kg/94)
CH A =4 N,N-C|H & ZFolo|= Y & 2 A3




=5 2+
_ HHETD MAZHUo| Hi7|A S HX|SHR 0] 15 HI|HMAS AAe
=082 7|&
e Bl & x| Z+2
R 8 (%) 85.0 ”(fgjoj')o 6,120.6
&2 |TAIEA S Sof Mo B E #Aststll, Mo w2} M| S FIHd X[of
7= A
EMZ [ Folug 50
=E (CEEE)) '
Z T H| =2k
X7 (%) 90.0 ﬂ(kg/”(f)o 4,896.5
CH & =2 N,N-CIHE ZEoto| = HYf =& 7| 2 XAl A
B EXZ  [F27[EA N 7] 67| ZXE LRSI 135 dB|HA S Sl
b = & 2 7= w A el gt
sigt TESSET
M7 & (%) 85.0 H(fgjoﬂ)o 918.2
BiEMZ  |S8M uAd 9135 & 37| F718 S5M uAM 2 et FEag SIHAE ST
7l& W)
HiEXZE | Fv|E
SE | (dpie) 00
Z T H| =2k
HHE(%) 90.0 ﬂ(kg/'*j)o 734.6
4. ATHE WEHZL 2E
= S 7| EAE =E 8 £ (ka/yr)
|_i == _
HY & 2 202044 202144 202214 202314 20244
NN-dMEEgoll= 70417 3,732.0/ 3,632.0] 3,500.0] 3,500.0| 3,500.0
5. Az H{EX 2 ol A

(B A=)



